

# DIFFERENCE INEQUALITY FOR ATTRACTING AND QUASI-INVARIANT SETS FOR A CLASS OF IMPULSIVE STOCHASTIC DIFFERENCE EQUATIONS WITH CONTINUOUS TIME

DINGSHI LI AND SHUJUN LONG

(Communicated by I. Perić)

*Abstract.* So far there have been few results presented on the attracting and quasi-invariant sets for impulsive stochastic difference equations with continuous time. The main aim of this work is to close this gap. By establishing a difference inequality with continuous time, we obtain the attracting and quasi-invariant sets of systems under consideration. An example is given to illustrate the theory.

## 1. Introduction

Difference equations with continuous time are difference equations in which the unknown function is a function of continuous time. In practice, time is often involved as the independent variable in difference equations with continuous time. In view of this fact, we may refer to them as difference equations with continuous time. Difference equations with continuous time appear as natural descriptions of observed evolution phenomena in many branches of natural sciences [1, 2]. Deterministic and stochastic difference equations with continuous time are very popular with researchers [3, 4, 10, 5, 6, 7, 8, 9].

However, besides the stochastic effect, an impulsive effect likewise exists in a wide variety of evolutionary processes in which states are changed abruptly at certain moments of time, involving such fields as medicine and biology, economics, mechanics, electronics and telecommunications. Recently, the asymptotic behaviors of impulsive difference equations have attracted considerable attention. Many interesting results on impulsive effect have been obtained [11, 12, 13]. In [14], some stability conditions on impulsive stochastic difference equations with continuous time are given. However, under impulsive perturbation, an equilibrium point sometimes does not exist in many physical systems, especially, in nonlinear systems. Therefore, an interesting subject is to discuss the invariant sets and the attracting sets of impulsive systems. Some significant progress has been made in the techniques and methods of determining the invariant

---

*Mathematics subject classification* (2010): 30D15, 60H20.

*Keywords and phrases:* Attracting set, quasi-invariant set, impulsive, difference equations, difference inequality.

The study was supported by National Natural Science Foundation of China under Grant 10971147, Scientific Research Fund of Sichuan Provincial Education Department under Grant 10ZA032 and Fundamental Research Funds for the Central Universities 2010SCU1006.

sets and attracting sets for delay difference equations, delay differential equations and impulsive functional differential equations [16, 15, 17]. Unfortunately, the corresponding problems for impulsive stochastic difference equations with continuous time have not been considered.

Motivated by the above discussion, we here make a first attempt to arrive at results on the invariant sets and attracting sets of impulsive stochastic difference equations with continuous time.

### 2. Model description

For convenience, we introduce several notations and recall some basic definitions.

$C(X, Y)$  denotes the space of continuous mappings from the topological space  $X$  to the topological space  $Y$ . Especially, let  $C \triangleq C([-h, 0], R)$  with a norm  $\|\varphi\| = \sup_{-h \leq s \leq 0} |\varphi(s)|$ , where  $h$  is a positive constant.

$$PC(J, H) = \left\{ \psi(t) : J \rightarrow H \mid \psi(t) \text{ is continuous for all but at most countable points } s \in J \right. \\ \left. \text{and at these points } s \in J, \psi(s^+) \text{ and } \psi(s^-) \text{ exist, } \psi(s^+) = \psi(s) \right\},$$

where  $J \subset R$  is an interval,  $H$  is a complete metric space,  $\psi(s^+)$  and  $\psi(s^-)$  denote the right-hand and left-hand limit of the function  $\psi(s)$ , respectively. Especially, let  $PC \triangleq PC([-h, 0], R)$ .

Let  $R^n$  be the space of  $n$ -dimensional real column vectors and  $R_+ = [0, +\infty)$ . Let  $(\Omega, \mathcal{F}, \{\mathcal{F}_t\}_{t \geq 0}, P)$  be a complete probability space with a filtration  $\{\mathcal{F}_t\}_{t \geq 0}$  satisfying the usual conditions (i.e, it is right continuous and  $\mathcal{F}_0$  contains all P-null sets). If  $x(t)$  is an  $R$ -valued stochastic process on  $t \in [-\tau - h, \infty)$ , we let  $x_t = x(t + s) : -h \leq s \leq 0$ , which is regarded as a  $PC$ -valued stochastic process for  $t \geq -\tau$ .  $\xi(t)$  is a  $\mathcal{F}_t$ -measurable stationary and mutually independent stochastic process satisfying

$$E\xi(t) = 0, \quad E\xi^2(t) = 1,$$

where  $E$  be the mathematical expectation. Denote by  $PC_{\mathcal{F}_0}^b([-h, 0], R)$  the family of all bounded  $\mathcal{F}_0$ -measurable,  $PC$ -valued random variables  $\varphi$ , satisfying  $\|\varphi\|_{L^2}^2 = \sup_{s \in [-h, 0]} E|\varphi(s)|^2 < \infty$ .

In this paper, we mainly consider the following impulsive stochastic difference equations with continuous time

$$\begin{cases} x(t + \tau) = F(t, x(t - h_m), \dots, x(t - h_1), x(t)) \\ \quad + G(t, x(t - h_m), \dots, x(t - h_1), x(t)) \xi(t + \tau), \quad t > -\tau, \quad t \neq t_k, \\ x(t) = H_k(x(t^-)), \quad t = t_k, \end{cases} \quad (1)$$

with initial condition

$$x_t = \varphi_t, \quad t \in [-(\tau + h), 0],$$

where  $m$  is a positive integer,  $h = \max_{1 \leq i \leq m} h_i$ ,  $\tau$  is a positive constant,  $F, G: [-\tau, \infty) \times R^{m+1} \rightarrow R$ ,  $H_k: R \rightarrow R$ , and for fixed  $t \in [-\tau, 0]$ ,  $\varphi_t \in PC^b_{\mathcal{F}_0}([-h, 0], R)$ . The fixed moments of time  $t_k$  satisfy  $0 < t_1 < t_2 < \dots, \lim_{k \rightarrow \infty} t_k = \infty$ .

Throughout this paper, we assume that for any  $\varphi_t \in PC^b_{\mathcal{F}_0}([-h, 0], R)$ ,  $t \in [-\tau, 0]$ , there exists at least one solution of (1), which is denoted by  $x(t, -\tau, \varphi)$  or  $x_t(-\tau, \varphi)$  (simply  $x(t)$  and  $x_t$  if no confusion should occur).

DEFINITION 2.1. The set  $S \subset PC^b_{\mathcal{F}_0}([-h, 0], R)$  is called a quasi-invariant set of (1), if there exists a constant  $k$  such that for any initial value  $\varphi_t \in S$ ,  $t \in [-\tau, 0]$ , the solution  $kx_t(-\tau, \varphi) \in S$ ,  $t \geq -\tau$ . Especially, if  $k = 1$ ,  $S$  is called a invariant set.

DEFINITION 2.2. The set  $S \subset PC^b_{\mathcal{F}_0}([-h, 0], R)$  is called a global attracting set of (1), if for any initial value  $\varphi_t \in PC^b_{\mathcal{F}_0}([-h, 0], R)$ ,  $t \in [-\tau, 0]$ , the solution  $x_t(-\tau, \varphi)$  satisfies

$$\text{dist}(x_t, S) \rightarrow 0, \quad \text{as } t \rightarrow \infty,$$

where

$$\text{dist}(\varphi, S) = \inf_{\psi \in S} \rho(\varphi(s), \psi(s)) \quad \text{for } \varphi \in PC^b_{\mathcal{F}_0}([-h, 0], R),$$

where  $\rho(\cdot, \cdot)$  is any distance in  $PC^b_{\mathcal{F}_0}([-h, 0], R)$ .

DEFINITION 2.3. The zero solution of Eq. (1) is called mean square exponential stable if there are positive constants  $\lambda$  and  $M \geq 1$  such that for any initial condition  $\varphi_t \in PC^b_{\mathcal{F}_0}([-h, 0], R)$ ,  $t \in [-\tau, 0]$ ,

$$Ex^2(t) \leq M \max_{t \in [-\tau, 0]} \|\varphi_t\|_{L^2}^2 e^{-\lambda t}, \quad t \geq -\tau.$$

Here  $\lambda$  is called the exponential convergence rate. Of course, conditions are needed to ensure that the zero function is a solution of (1).

To establish the main results of system (1), we will employ the following assumptions.

(A<sub>1</sub>) For any  $t \geq -\tau$ , there exist nonnegative functions  $a_j(t)$ ,  $b_j(t)$  and constants  $J_1$ ,  $J_2$  such that

$$\begin{aligned} |F(t, x(t-h_m), \dots, x(t-h_1), x(t))| &\leq \sum_{j=0}^m a_j(t) |x(t-h_j)| + J_1, \\ |G(t, x(t-h_m), \dots, x(t-h_1), x(t))| &\leq \sum_{j=0}^m b_j(t) |x(t-h_j)| + J_2, \end{aligned}$$

where  $h_0 = 0$ .

(A<sub>2</sub>)  $\sup_{t \geq -\tau} 2\{a^2(t) + b^2(t)\} = \mu < 1$ , where  $a(t) = \sum_{j=0}^m a_j(t)$  and  $b(t) = \sum_{j=0}^m b_j(t)$ .

(A<sub>3</sub>) There exist constants  $d_k \geq 1$  such that

$$|H_k(x(t_k^-))| \leq d_k |x(t_k^-)|, \quad k = 1, 2, \dots$$

(A<sub>4</sub>) There exists constant  $\alpha^* \geq 0$  such that

$$\frac{2 \ln d_k}{t_k - t_{k-1}} \leq \alpha^* < \lambda^*, \quad k = 1, 2, \dots,$$

where  $t_0 = 0$  and  $\lambda^*$  satisfies

$$0 < \lambda^* = \frac{1}{h + \tau} \ln \frac{1}{\mu},$$

and

$$\sigma = 2 \sum_{k=1}^{\infty} \ln d_k < \infty, \quad k = 1, 2, \dots$$

(A<sub>5</sub>) There exist nonnegative constants  $d_k \leq 1$  such that

$$|H_k(x(t_k^-))| \leq d_k |x(t_k^-)|.$$

(A<sub>6</sub>) For any  $t \geq -\tau$ , there exist positive functions  $a_j(t)$  and  $b_j(t)$  such that

$$\begin{aligned} |F(t, x(t-h_m), \dots, x(t-h_1), x(t))| &\leq \sum_{j=0}^m a_j(t) |x(t-h_j)|, \\ |G(t, x(t-h_m), \dots, x(t-h_1), x(t))| &\leq \sum_{j=0}^m b_j(t) |x(t-h_j)|, \end{aligned}$$

where  $h_0 = 0$ .

(A<sub>7</sub>)  $\sup_{t \geq -\tau} \{a^2(t) + b^2(t)\} = \mu < 1$ , where  $a(t) = \sum_{j=0}^m a_j(t)$  and  $b(t) = \sum_{j=0}^m b_j(t)$ .

### 3. Main results

In this section, we shall present the main results and complete the proof. Unlike earlier studies, we does not make use of general methods such as Lyapunov methods, Itô formula methods and so forth. However, we firstly establish a difference inequality with continuous time, which plays an important role in this section, for obtaining our desired results.

LEMMA 3.1. Suppose  $c_j(t) \in R_+$ ,  $t \geq t_0 \geq 0$ ,  $\sup_{t \geq t_0} \left\{ \sum_{j=0}^m c_j(t) \right\} = \eta < 1$  and  $b > 0$ .

Let continuous function  $u(t)$  satisfy the following difference inequality with continuous time:

$$u(t + \tau) \leq \sum_{j=0}^m c_j(t) u(t - h_j) + b, \quad t \geq t_0. \tag{2}$$

(a) Then

$$u(t) \leq de^{-\lambda t} + (1 - \eta)^{-1} b, \quad t \geq t_0, \tag{3}$$

provided that the initial condition satisfies

$$u(t) \leq de^{-\lambda t} + (1 - \eta)^{-1}b, \quad t \in [t_0 - \tau - h, t_0], \quad (4)$$

where  $d \in R_+$  and  $\lambda$  satisfies

$$0 < \lambda \leq \frac{1}{h + \tau} \ln \frac{1}{\eta}. \quad (5)$$

(b) Then

$$u(t) \leq \gamma(1 - \eta)^{-1}b, \quad t \geq t_0, \quad (6)$$

provided the initial condition

$$u(t) \leq \gamma(1 - \eta)^{-1}b, \quad t \in [t_0 - \tau - h, t_0], \quad (7)$$

where  $\gamma \geq 1$ .

*Proof.* (a) Since  $\eta < 1$ , there exists a constant  $\lambda$  satisfying the inequality (5). Then,

$$e^{\lambda(h+\tau)}\eta \leq 1. \quad (8)$$

We first shall prove that for any positive  $\varepsilon$ :

$$u(t) < de^{-\lambda t} + (1 - \eta)^{-1}b + \varepsilon, \quad t \geq t_0. \quad (9)$$

If (9) is not true, then there must be a positive number  $t^* + \tau > t_0$  such that

$$u(t^* + \tau) = de^{-\lambda(t^* + \tau)} + (1 - \eta)^{-1}b + \varepsilon \quad \text{and} \quad u(t) < de^{-\lambda t} + (1 - \eta)^{-1}b + \varepsilon, \\ t \in [t_0 - \tau - h, t^* + \tau). \quad (10)$$

By (2), (8) and (3), we have

$$\begin{aligned} u(t^* + \tau) &\leq \sum_{j=0}^m c_j(t^*)u(t^* - h_j) + b \\ &< \sum_{j=0}^m c_j(t^*) \left[ de^{-\lambda(t^* - h_j)} + (1 - \eta)^{-1}b + \varepsilon \right] + b \\ &\leq e^{\lambda(h+\tau)}\eta de^{-\lambda(t^* + \tau)} + \eta(1 - \eta)^{-1}b + b + \eta\varepsilon \\ &= e^{\lambda(h+\tau)}\eta de^{-\lambda(t^* + \tau)} + (1 - \eta)^{-1}b + \eta\varepsilon \\ &< de^{-\lambda(t^* + \tau)} + (1 - \eta)^{-1}b + \varepsilon, \end{aligned}$$

which contradicts the first inequality of (3). So (9) holds. Letting  $\varepsilon \rightarrow 0$  in (9), we can get (3). The proof of part (a) is complete.

(b) We first shall prove that for any positive  $\varepsilon$ :

$$u(t) \leq \gamma(1 - \eta)^{-1}b + \varepsilon, \quad t \geq t_0, \quad (11)$$

If (11) is not true, then there must be a positive number  $t^* + \tau > t_0$  such that

$$u(t^* + \tau) = \gamma(1 - \eta)^{-1}b + \varepsilon \quad \text{and} \quad u(t) < \gamma(1 - \eta)^{-1}b + \varepsilon, \quad t \in [t_0 - \tau - h, t^* + \tau]. \tag{12}$$

By (2) and (12), we have

$$\begin{aligned} u(t^* + \tau) &\leq \sum_{j=0}^m c_j(t^*)u(t^* - h_j) + b \\ &< \gamma\eta(1 - \eta)^{-1}b + b + \eta\varepsilon \\ &\leq \gamma\left(\eta(1 - \eta)^{-1}b + b\right) + \eta\varepsilon \\ &< \gamma(1 - \eta)^{-1}b + \varepsilon, \end{aligned}$$

which contradicts the first inequality of (12). So (11) holds. Letting  $\varepsilon \rightarrow 0$  in (11), we can get (6). The proof of part (b) is complete.  $\square$

**THEOREM 3.1.** *If  $(A_1) - (A_4)$  hold, then*

$$S = \left\{ \phi \in PC_{\mathcal{F}_0}^b([-h, 0], R) \mid \|\phi\|_{L^2}^2 \leq e^\sigma(1 - \mu)^{-1}J \right\}$$

*is a global attracting set of (1), where  $J = 2(J_1^2 + J_2^2)$ .*

*Proof.* From (1), Condition  $(A_1)$ ,  $(a + b)^2 \leq 2(a^2 + b^2)$  and the Hölder inequality, we have

$$\begin{aligned} Ex^2(t + \tau) &= EF^2(t, x(t - h_m), \dots, x(t - h_1), x(t)) \\ &\quad + EG^2(t, x(t - h_m), \dots, x(t - h_1), x(t)) \\ &\leq E\left(\sum_{j=0}^m a_j(t)|x(t - h_j)| + J_1\right)^2 + E\left(\sum_{j=0}^m b_j(t)|x(t - h_j)| + J_2\right)^2 \\ &\leq 2E\left(\sum_{j=0}^m a_j(t)|x(t - h_j)|\right)^2 + 2E\left(\sum_{j=0}^m b_j(t)|x(t - h_j)|\right)^2 + 2(J_1^2 + J_2^2) \\ &\leq 2\sum_{j=0}^m a_j(t)\sum_{j=0}^m a_j(t)E|x(t - h_j)|^2 + 2\sum_{j=0}^m b_j(t)\sum_{j=0}^m b_j(t)E|x(t - h_j)|^2 + J \\ &= 2\sum_{j=0}^m [a(t)a_j(t) + b(t)b_j(t)]Ex^2(t - h_j) + J, \quad t \neq t_k, \quad k = 1, 2, \dots \tag{13} \end{aligned}$$

From Condition  $(A_2)$ , we obtain

$$\sup_{t \geq -\tau} 2\sum_{j=0}^m [a(t)a_j(t) + b(t)b_j(t)] = \sup_{t \geq -\tau} 2\{a^2(t) + b^2(t)\} = \mu < 1. \tag{14}$$

For the initial conditions  $x_t = \varphi_t$ ,  $t \in [-\tau, 0]$ , where  $\varphi_t \in PC_{\mathcal{F}_0}^b([-h, 0], R)$ , we have a positive constant  $K$  such that

$$Ex^2(t) \leq Ke^{-\lambda^*t} + (1 - \mu)^{-1}J, \quad t \in [-\tau - h, 0]. \quad (15)$$

Then, all the conditions of the part (a) of Lemma 2.1 are satisfied by (13) – (15). So, we can obtain

$$Ex^2(t) \leq Ke^{-\lambda^*t} + (1 - \mu)^{-1}J, \quad t \in [0, t_1].$$

Suppose for all  $q = 1, 2, \dots, k$ , the inequalities

$$Ex^2(t) \leq d_0^2 d_1^2 \cdots d_{q-1}^2 Ke^{-\lambda^*t} + d_0^2 d_1^2 \cdots d_{q-1}^2 (1 - \mu)^{-1}J, \quad t \in [t_{q-1}, t_q], \quad (16)$$

hold, where  $d_0 = 1$  and  $t_0 = 0$ . Then from Condition (A<sub>3</sub>) and (16), we have

$$\begin{aligned} Ex^2(t_k) &= E|H_k(x(t_k^-))|^2 \\ &\leq d_k^2 Ex^2(t_k^-) \\ &\leq d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 Ke^{-\lambda^*t} + d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 (1 - \mu)^{-1}J. \end{aligned}$$

This, together with (16) and  $d_k \geq 1$ ,  $k = 1, 2, \dots$ , leads to

$$Ex^2(t) \leq d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 Ke^{-\lambda^*t} + d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 (1 - \mu)^{-1}J, \quad t \in [t_k - \tau - h, t_k]. \quad (17)$$

It follows from (13), (14), (17) and the part (a) of Lemma 2.1 that

$$Ex^2(t) \leq d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 Ke^{-\lambda^*t} + d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 (1 - \mu)^{-1}J, \quad t \in [t_k, t_{k+1}).$$

By mathematical induction, we can conclude that

$$Ex^2(t) \leq d_0^2 d_1^2 \cdots d_{k-1}^2 Ke^{-\lambda^*t} + d_0^2 d_1^2 \cdots d_{k-1}^2 (1 - \mu)^{-1}J, \quad t \in [t_{k-1}, t_k], \quad k = 1, 2, \dots \quad (18)$$

Noticing that  $d_k^2 \leq e^{\alpha^*(t_k - t_{k-1})}$  and  $e^\sigma = \prod_{k=1}^{\infty} d_k^2 < \infty$ , by Condition (A<sub>4</sub>), we can use (18) to conclude that

$$\begin{aligned} Ex^2(t) &\leq e^{\alpha^*(t_1 - t_0)} \cdots e^{\alpha^*(t_{k-1} - t_{k-2})} Ke^{-\lambda^*t} + d_0^2 d_1^2 \cdots d_{k-1}^2 (1 - \mu)^{-1}J \\ &\leq Ke^{\alpha^*t} e^{-\lambda^*t} + e^\sigma (1 - \mu)^{-1}J \\ &= Ke^{-(\lambda^* - \alpha^*)t} + e^\sigma (1 - \mu)^{-1}J, \quad t \in [t_{k-1}, t_k], \quad k = 1, 2, \dots \end{aligned}$$

This implies that the conclusion holds and the proof is complete.  $\square$

**THEOREM 3.2.** *If (A<sub>1</sub>) – (A<sub>4</sub>) hold, then*

$$S = \left\{ \phi \in PC_{\mathcal{F}_0}^b([-h, 0], R) \mid \|\phi\|_{L^2}^2 \leq \gamma(1 - \mu)^{-1}J, \gamma \geq 1 \right\}$$

*is a quasi-invariant set of (1).*

*Proof.* For the initial conditions  $x_t = \varphi_t, t \in [-\tau, 0]$ , where  $\varphi_t \in PC^b_{\mathcal{F}_0}([-h, 0], \mathbb{R})$ , we have

$$Ex^2(t) \leq \gamma(1 - \mu)^{-1}J, \quad t \in [-\tau - h, 0]. \tag{19}$$

By (19) and the part (b) of Lemma 2.1, we have

$$Ex^2(t) \leq \gamma(1 - \mu)^{-1}J, \quad t \in [t_0, t_1].$$

Suppose for all  $q = 1, 2, \dots, k$ , the inequalities

$$Ex^2(t) \leq d_0^2 d_1^2 \cdots d_{q-1}^2 \gamma(1 - \mu)^{-1}J, \quad t \in [t_{q-1}, t_q], \tag{20}$$

hold, where  $d_0 = 1$  and  $t_0 = 0$ . Then from Condition (A<sub>3</sub>) and (20), we have

$$\begin{aligned} Ex^2(t_k) &= E|H_k(x(t_k^-))|^2 \\ &\leq d_k^2 Ex^2(t_k^-) \\ &\leq d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 \gamma(1 - \mu)^{-1}J. \end{aligned}$$

This, together with (20) and  $d_k \geq 1, k = 1, 2, \dots$ , leads to

$$Ex^2(i) \leq d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 \gamma(1 - \mu)^{-1}J, \quad t \in [t_k - \tau - h, t_k]. \tag{21}$$

It follows from (21) and the part (b) of Lemma 2.1 that

$$Ex^2(x) \leq d_0^2 d_1^2 \cdots d_{k-1}^2 d_k^2 \gamma(1 - \mu)^{-1}J, \quad t \in [t_k, t_{k+1}),$$

By mathematical induction, we can conclude that

$$Ex^2(t) \leq d_0^2 d_1^2 \cdots d_{k-1}^2 \gamma(1 - \mu)^{-1}J, \quad t \in [t_{k-1}, t_k], k = 1, 2, \dots \tag{22}$$

Noticing that  $e^\sigma = \prod_{k=1}^\infty d_k^2 < \infty$ , by Condition (A<sub>4</sub>), we can use (22) to conclude that

$$\begin{aligned} Ex^2(t) &\leq d_0^2 d_1^2 \cdots d_{k-1}^2 \gamma(1 - \mu)^{-1}J \\ &\leq e^\sigma \gamma(1 - \mu)^{-1}J, \quad t \in [t_{k-1}, t_k), k = 1, 2, \dots \end{aligned}$$

This implies that the conclusion holds and the proof is complete.  $\square$

**THEOREM 3.3.** *If (A<sub>1</sub>) – (A<sub>2</sub>) and (A<sub>5</sub>) hold, then*

$$S = \left\{ \phi \in PC^b_{\mathcal{F}_0}([-h, 0], \mathbb{R}) \mid \|\phi\|_{L^2}^2 \leq (1 - \mu)^{-1}J \right\}$$

*is a invariant set and also a global attracting set of (1).*

*Proof.* Since  $d_k \leq 1$ , a direct calculation shows that  $\alpha^* = 0$  and  $\sigma = 0$  in Theorem 3.1 and Theorem 3.2. It follows from Theorem 3.1 the set  $S$  is a global attracting set of (1). It follows from Theorem 3.2 the set  $S$  is a invariant set of (1).  $\square$



If  $H_k(x(t_k)) \equiv x(t_k)$ ,  $k = 1, 2, \dots$ , the system (1) reduces to the following system without impulses

$$\begin{aligned} x(t + \tau) &= F(t, x(t - h_m), \dots, x(t - h_m), x(t)) \\ &\quad + G(t, x(t - h), \dots, x(t - h_m), x(t)) \xi(t + \tau), \quad t \geq -\tau, \end{aligned} \quad (23)$$

with initial condition

$$x_t = \varphi_t, \quad t \in [-\tau, 0].$$

By Theorem 3.3, we can obtain the following result.

**COROLLARY 3.1.** *If  $(A_1)$  and  $(A_2)$  hold, then*

$$S = \left\{ \phi \in PC_{\mathcal{F}_0}^b([-h, 0], R) \mid \|\phi\|_{L_2}^2 \leq (1 - \mu)^{-1} J \right\}$$

*is a invariant set and also a global attracting set of (23).*

We easily observe  $x(t) = 0$  is a solution of Eq. (1) from  $(A_3)$  and  $(A_6)$ . In the following, we give the attractivity of the zero solution and the proof is similar to that of Theorem 3.1.

**THEOREM 3.4.** *If  $(A_3)$ ,  $(A_4)$ ,  $(A_6)$  and  $(A_7)$  hold, then the zero solution of Eq. (1) is mean square exponential stable and the exponential convergence rate is equal to  $\lambda^* - \alpha^*$ .*

## 4. Example

In this section, we shall discuss an example in order to illustrate the effectiveness of our results.

**EXAMPLE 4.1.** Consider the following impulsive stochastic difference equation with continuous time:

$$\begin{cases} x(t+1) = a \sin(x(t)) - bx(t-1) + 1 + cx(t) \xi(t+1), & t \neq t_k, \quad t \geq -1, \\ x(t_k) = e^{d_k} x(t_k^-), & t = t_k, \end{cases} \quad (24)$$

where  $t_k = t_{k-1} + \rho k$ ,  $k = 1, 2, \dots$ ,  $a, b, c, d$  are nonnegative constants and  $\rho$  is a positive constant. Thus

$$\begin{aligned} h = 1, \quad \tau = 1, \quad F(t, x(t - h_m), \dots, x(t - h_1), x(t)) &= a \sin(x(t)) - bx(t-1) + 1, \\ G(t, x(t - h_m), \dots, x(t - h_1), x(t)) &= cx(t), \quad H_k(x(t_k)) = e^{d_k} x(t_k^-), \end{aligned}$$

yielding

$$\begin{aligned} |F(t, x(t - h_m), \dots, x(t - h_1), x(t))| &\leq a|x(t)| + b|x(t-1)| + 1 \\ |G(t, x(t - h_m), \dots, x(t - h_1), x(t))| &\leq c|x(t)|, \quad |H_k(x(t_k))| = e^{d_k} |x(t_k^-)|. \end{aligned}$$

So, the parameters of Conditions  $(A_1)$ ,  $(A_2)$  and  $(A_3)$  are as follows:

$$a_0(t) = a, \quad a_1(t) = b, \quad b_0(t) = c, \quad b_1(t) = 0, \quad J_1 = 1, \quad J_2 = 0, \quad t \geq -1.$$

If  $\mu = (a + b)^2 + c^2 < 1$ ,  $\frac{2\ln d_k}{t_k - t_{k-1}} = \frac{2d^k}{\rho k} < \frac{1}{2} \ln \frac{1}{\mu}$ ,  $k = 1, 2, \dots$ , and  $\sigma = 2 \sum_{k=1}^{\infty} \ln d_k = 2 \sum_{k=1}^{\infty} d^k < \infty$ . Then the conditions  $(A_1)$ ,  $(A_2)$ ,  $(A_3)$  and  $(A_4)$  are satisfied. So, by Theorem 3.1, we can get that

$$S = \left\{ \phi \in PC_{\mathcal{F}_0}^b([-1, 0], R) \mid \|\phi\|_{L^2}^2 \leq 2e^\sigma (1 - \mu)^{-1} \right\}$$

is a global attracting set of (24). By Theorem 3.2, we can get that  $S$  is a quasi-invariant set of (24).

*Acknowledgement.* The authors would like to thank the referees for their detailed comments and valuable suggestions which considerably improved the presentation of the paper.

#### REFERENCES

- [1] G. LADAS, *Recent development in the oscillation of delay difference equations*, in: Differential Equations, (Colorado Springs, CO, 1989), in: Lecture Notes in Pure and Appl. Math., vol. 127, Dekker, New York, 1991, pp. 321–332.
- [2] YU. L. MAISTRENKO, A. N. SHARKOVSKY, *Difference equations with continuous time as mathematical models of the structure emergences*, in: Dynamical Systems and Environmental Models, in: Eisenach, Mathem. Ecol., Akademie-Verlag, Berlin, 1986, pp. 40–49.
- [3] M. G. BLIZORUKOV, *On the construction of solutions of linear difference systems with continuous time*, Differentsialniye Uravneniya **32** (1996), 127–128. Translation in Diff. Eqs. **32** (1996), 133–134.
- [4] Y. DOMSTLAK, *Oscillatory properties of linear difference equations with continuous time*, Diff. Eq. Dynamic. Sys. **1**, 4 (1993), 311–324.
- [5] L. SHAIKHET, *Lyapunov Functionals and Stability of Stochastic Difference Equations*, Springer, London, Dordrecht, Heidelberg, New York, 2011.
- [6] L. SHAIKHET, *About an unsolved stability problem for a stochastic difference equation with continuous time*, J. Difference Equations and Applications **17**, 1 (2011), 441–444.
- [7] J. LUO, L. SHAIKHET, *Stability in probability of nonlinear stochastic Volterra difference equations with continuous variable*, Stochast. Anal. Appl. **25**, 6 (2007), 1151–1165.
- [8] L. SHAIKHET, *Some new aspect of Lyapunov type theorems for stochastic difference equations with continuous time*, Asian Journal of Control **8**, 1 (2006), 76–81.
- [9] L. SHAIKHET, *General method of Lyapunov functionals construction in stability investigations of nonlinear stochastic difference equations with continuous time*, Stochastics and Dynamics **5**, 2 (2005), 175–188.
- [10] L. SHAIKHET, *Lyapunov functionals construction for stochastic difference second kind Volterra equations with continuous time*, Adv. Difference Equations **2004**, 1 (2004), 67–91.
- [11] Z. M. HE, X. M. ZHANG, *Monotone iterative technique for first order impulsive difference equations with periodic boundary conditions*, Appl. Math. Comput. **156** (2004), 605–620.
- [12] Q. Q. ZHANG, *On a linear delay difference equation with impulses*, Ann. Differential Equations **18**, 2 (2002), 197–204.
- [13] W. ZHU, D. Y. XU, Z. C. YANG, *Global exponential stability of impulsive delay difference equation*, Appl. Math. Comput. **181** (2006), 65–72.
- [14] JIANHAI BAO, ZHENTING HOU, FUXING WANG, *Exponential stability in mean square of impulsive stochastic difference equations with continuous time*, Appl. Math. Lett. **20** (2007), 938–945.
- [15] D. Y. XU, *Asymptotic behavior of nonlinear difference equations with delays*, Comput. Math. Appl. **42** (2001), 393–398.

- [16] G. SEIFERT, *Positively invariant closed sets for systems of delay differential equations*, J. Differential Equations **22** (1976), 292–304.
- [17] D. Y. XU, Z. C. YANG, *Attracting and invariant sets for a class of impulsive functional differential equations*, J. Math. Anal. Appl. **329** (2007), 1036–1044.

(Received March 5, 2012)

*Dingshi Li School of Mathematics  
Southwest Jiaotong University  
Chengdu, 610031, P. R. China  
e-mail: lidingshi2006@163.com*

*Shujun Long  
College of Mathematics and Information Science  
Leshan Teachers College  
Leshan 614004, P. R. China*